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L oA e W oo o g ow I. Which one among the following is
frmor = & mot @ characteristic of measuring
{l} w devige ?
(b) T {a)  Accuracy
: (b} Sensitiviry
E::; E: ! (e} Dependability
(d}  Linearity
B % & o TR TR ¥ Which of the following devices may
TR H I E A e o be wsed for eutending the range of
(a) W= instruraenis 7
(b} TR (a) Shunts
(c) iz zimmEr (b} Multipliers
. (e} Current wansformers
() FwH#wh (d) Al of the shove
Fensreremdt 1 sy femy s & A potentiometer may be used for
(62) (@) sifereig wmey (a) Meastirement of resistancs
(b) wRY W (b)  Measarement of current
(¢) Hieedter S 5 {ed Calibration of voltmeter
(d) =vgw odt (d) All of the ahave
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LVDT is afan
(a) Capacitance transducer
(b)  Resistive transducer

(¢) Induetive transducer &)
{d) None of them
(b)
Capacitance transducers are normially
employed for MEAsuremant.
{a) Static (€)
{b) Dynamic (d)
(¢) Both static and dynamic
{d) Transient
0,
In an open loop control system A
(a) output is independent of control. (b
input (e
(b} output is dependent on coniral (d
input
(c) only system parameters have :
effect on the control cutput B
(d) none of the above '
: L
In closed loop control system with |
puaiﬁvﬂaluic:ffwdhmkgaiantm i
system will
(a) Decrease '
{b) Increase

(¢) Beunaffected
(d) None of the above

Regigtance can be measured with the
help of

fa) Wattmeter

{h) Volmmeter

(¢) Ammeter

(d) Ohmmeter and resistance bridge
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Transducer is & devite which

(a) transfers a signal from one
circuit to other

(b} convert a physical quantity to
be measured into equivalent
electrical signal

(¢} -convertsac into do

(d) amplified a signal for the
purpose of measurement

Which of the following is an active
transducer 7

{a) Thermastor

by LVDT

(c) Photo wansistor

{dy Thermocouple

Which of the following is not a
pressure measurement transducer ?
{a) Piezoelectric transduger

{b) Strain gauge

(e} TNDT

{d) Thermocouple

RTD is

(#) Resistance Temperature Detector
{b) Resistance Transistor Device
(c) Resistunce Time Detector

(d) None of the above

What s the unit of strain 7
fa) E¥W
(b) AL
(c) Dimensionless
(dy I/Hz
P.T.O.




i o

EFZ03/EL203

14wt

| 8

16.

I

1B

T e P T ST 3 R
5 G

(a) T ey uE S e W

) wHE s EE, SRt
T W

(e :;ﬁr ST UE HmeHRT R

Wy Bt sl wowd, g

e o

wmT Haueie auwa
fa) PMMC

(b} B2 S

(o) FrmgrediEE IrET
(@ () F (k) TE

;ﬁmﬁﬁ?ﬂm? | I O

{a) SUITEE

(b) YHFrE

(c) ¥¥

(d) TEEE AT

o W A & afr % we, W

AR O nA

(a) FEWRE

by weErE

() ER TR

(d)y SR =

ST T W A, AT AR

1 g

(2) WETEATATEHETAH
0 R s e e e e
=) T TE A

(dy THEAT

4

14,

13,

16.

17.

18,

Current and potential transformers

are used to increase the ranges of

(a) ¢ ammeter and volimeter
respectively

(b) a.c. ammeter and d.c. voltmeter
respectively

(c) dec. ammeter and voltmeter
respectively

(d) d.c. ammeter and a.c. volimeter
respectively

The current sensitive instruments are
(a) PMMC

(b) Hot wire

(¢} Elechostatic instruments

(d) (a) & (b) both

Thermistor is & transducer. [is
temperature. coefficient is

(a) Negative

(b} Positive

{g) Zem

(d) None of these

With the increase in the intensity of
light, the resistance of photo voltaic
coll

{a} Increases

(b) Decreases

{¢) Remain same

{d) None of thesé

In ultrasomic level pauge, the

ultrasonic source is placed at the
(a) Bonom of wvessel comtaining
liguid

(h) Top of the vessel comtaining

liquid
ic)  Middle of vessel
{d) Farfrom ms&l

23.
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The transfer function of the system is
used to determine

(a) the output fora given input

(b) the type of the system

(c) the input for a given output

(d) the steady state gain

Transfer function of a control system
depends on

(a) System perameters alone

(b} Initial conditions of input and
output

Natwre of inpuat

Matare of catput

e
(d)

Which bridge is utilized in signal
conditicning for balancing purpose T
(a) Maxwell bridge '

(b) Wheatstone bridge

() Wein bridge

(d) Kelvin bridge

A transformer transforms
{a} Voliage

(b) Current

{¢) Frequency

(d) Both (a) and (b)

Control transformers are also known
as

(@) Machine tool transformers

(b) Industrial control transformers
(¢) Control power transformers
(d) All of the above

One of the basic requirements of
servomotor is that it must produce
high torque at

(a) all values of load

(b) il values of frequency

(c) all values of speed

(d) all values of potential

P.T.0.
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Servomolors e motors driven by a
current from
{a) Ad.c. source
(b) Amnac. source
(¢} Anerrorsignal
(d) Noneof these

Systematic errors Goour due o
(a) over use of instraments
(b} careless use of instruments
{¢) both {a)and (o)

(dj) Human sight

Measurement close to tue value is
called

(4) Accuracy

() Average

{¢) Precise

(dy Error

Sysiematic error can be removed by
(a) Buying new instrument

(b) Breaking instrument

(¢) Dusting instrument

(d) Recalibrating strument

A messurement which on repeltition
gives same or nearly same result is
called

(a) Accurate messurement

(b) Average measurement

{c) Precise measurement

(d) Estimated measurement

An instroment with high precision

o

{a) High accuracy

(b) Low accuracy

(¢) Daoes not imply anything aboul
gcouracy

(d) None of these




205018

EF203/EL203 TROMEBL S cunvnnsgossxnnnnmnasas

2016

ELECTRONIC MEASUREMENT & INSTRUMENTATION
|-.ua'1'-n

Forgif W o 02| [arfiresem 3w - 70
Time allowed : Three Hours] Maximum Marks : 70
Az . (i) D EET e § 9w 8 8 el o & g i

Note : Question No. 1 is compulsory, answer any five guestions from the remaining.

(i) RFOE T W G @ AT O G B i |
Solve all parts of a guestion consecutively together.
(iii) HFE 9 &1 99 T & Fey she |
Start each question on a fresh page.
(iv) & Wt & s gt ety F st s B e £
Only English version is valid in case of difference in both the languages,

1, (i) g Y i S i st
Define active and passive transducers.
(i) R T e TR WY T U i W I F O s |
Briefly differentiate between moving coil type and moving iron type instruments.
(ifi) s S = e ko
What is Damping torgue ?
(iv) T SR AT T B £ 7
What is piezo-resistive effect ?
(v) TR e By w5 afvaiee win |

Define repeatability for measuring instruments. {2x5}

2. (i) T AT W A W S T U e wme |
Draw general block diagram of a measuring system and explain it.
(i) =R g & o | ey W e o g

Briefly explain the following with reference to measuring devices |

(&)
Hysteresis
(b) TEta
Linearity (6, 3x2)

n P.T.O.
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TS R I W AT A | |
Explain the level measurement using Ultrasonic Method.
s = 1 & 2 AT W R § AT W W |

What is seebeck effect 7 Explain the messurement of temperature using
thermocouple. {6x2)

T WY IYe w1 ST ve W R w5 uve e |

Describe the construction and working principle of Dynamometer type
instruments,
Uit W ¥ SHEIET ST S |

Explain the working principle of series type Ohmmeter. (6x2)

Hrodradier Ht e e & for v & few o aw §iE O % A 1 SRR A0
S W F |

Derive an expression for the value of the shunt multiplier that is used to extend
the range of galvanometer.

REE Wi AT )9S S W e § e |

Explain the D.C signal conditioning with the help of the block diagram. (6x2)

o e S ) were § st R worel it s w5 aend |
Explain the operation of Automatic control system with the help of a suitable
example,

FiE S HF H AT S S | T SEEERT AT T |

Explain the operation of Photo Voltaic cell. Also write its applications. (6%2)

D.C. TifzT %t ren wa wEwd fagr = wemd |

Explain the construction and working principle of D.C. motor.
Frpt Foren wiromfirs =6t f Hageer o w1 5 T |

Explain synchro control transformer as error degector, (6x2)

fit et o ey formforaft fifiarg
Write short notes on any two :

(0

(ii)

kit
Potentiometer

AT Ui O

Data Acquisition System

(i) THETE HEERT

Multirange Voltmeter (62)
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Only English version is valid in case of difference in both the languages.

1w s w0 AR A TN 1. The resistance [empérature
. coefficient of an  intrinsic
(a) EAREE semiconductor is
(b) TOTEE (a) Positive
(b) Megative
{I:} Eﬂ#qﬂ (c) Zero
() (d) None of these
p e mﬁsﬁﬁwhq&ﬁtﬁaﬁiﬂ 5 The energy gap between conduction
o e i e o ___ W | band and valance band for the
{ay leV ) SeV insulator is approximately
€) A (dy 0.7eV {a) leV (b) SeV
(c) Zero (dy 0.TeV
3. E PR W S WS T ___
| 3. A P-type semiconductor as a whole is
(a) EFEE ST (2) Positively charged
(b) I AT (b) Negatively charged
(©) wﬁﬂm (c) Electrically Neutral
(@) EE S Eem ol (d) Positive or Negative depending

T 77 T upon doping

L




EF204/EL204

4.,

s e Fro fagm wm w R R
=ity e e e A R
(a) SmV (b) S0mV
(c) S000mV  (d) 03V

o 2 ErTs s IeEm § Y
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(c) = =aE
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To obtain 5V regulated output, the
sener breakdown voltage for zener
diode must be
() SmV

(g) 5000 mVY

(b) S0mV
) 0TV

Which diode contains highest doping ?
(a) LED

(b) Zener diode

(¢} Tunnel diode

{(d) Varactor diode

Highest input resistance is obtain in
configuration of transistor.

{a)y CB

(b} CC

ey CE

(d) Noneof these

Bipolar Junction Transistor is a
____ controlled device.

{a) Current

(b) Voitage

{¢) Power

{d) None of the above

In a transistor the leakage current leg

15

(a) Double for every 10 *C rise in
temperature.

(b} Double for every 1 ®C rise in
temperature.

(c) Increase linearly with rise in
temperature.

(d) Decrease linearly with fall in
temperature.

The correct relation for transistor
current gain is

1
(a) E=1—i ® B=1_g

@ B=—

1
(e) B=“__ 1+

1+
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